

An automorphism theorem on certain type B semigroups

Chunhua Li*

*School of Science
East China Jiaotong University
Nanchang
Jiangxi 330013
China
chunhuali66@163.com*

Limin Wang

*School of Mathematics
South China Normal University
Guangzhou, Guangdong 510631
China
wanglm@scnu.edu.cn*

Baogen Xu

*School of Science
East China Jiaotong University
Nanchang
Jiangxi 330013
China
Baogenxu@163.com*

Huawei Huang

*School of Mathematics and Computer Science
Guizhou Normal University
Guiyang, Guizhou 550001
China
hwhuang@163.com*

Abstract. Motivated by studying translational hulls in semigroups and rings, and also motivated M. Petrich and J. E. Ault's works in inverse semigroups in terms of translational hulls, we attempt in this article to study the idempotents of the translational hull of a type B semigroup. Our main result is to prove that the idempotent set of the translational hull of an arbitrary type B semigroup is isomorphic to the translational hull of the idempotent set of such a semigroup.

Keywords: translational hulls, type B semigroups, reductive.

1. Introduction

Recall that a mapping λ [resp., ρ] which maps a semigroup S into itself is a left [resp., right] translation of S if $\lambda(ab) = (\lambda a)b$ [resp., $(ab)\rho = a(b\rho)$], for

*. Corresponding author

all $a, b \in S$; if also $a(\lambda b) = (a\rho)b$ for all $a, b \in S$, then λ and ρ are *linked* and the pair (λ, ρ) is a *bitranslation* of S . As usual, $\Lambda(S)$ and $P(S)$ denote the set of all left and right translations of S , respectively. $\Omega(S)$ denotes the set of all bitranslation of S . If we define a multiplication on $\Omega(S)$ by the rule $(\lambda, \rho)(\lambda', \rho') = (\lambda\lambda', \rho\rho')$ for all $(\lambda, \rho), (\lambda', \rho') \in \Omega(S)$, then it is easy to check that $\Omega(S)$ forms a subsemigroup of $\Lambda(S) \times P(S)$. We call the semigroup $\Omega(S)$ *the translational hull* of S . Further, we denote

$$\begin{aligned} \tilde{\Lambda}(S) &= \{\lambda \in \Lambda(S) \mid (\lambda, \rho) \in \Omega(S) \text{ for some } \rho \in P(S)\}, \\ \tilde{P}(S) &= \{\rho \in P(S) \mid (\lambda, \rho) \in \Omega(S) \text{ for some } \lambda \in \Lambda(S)\} \text{ and} \\ \Pi(S) &= \{(\lambda_a, \rho_a) \mid a \in S, \lambda_a x = ax, x\rho_a = xa \text{ for all } x \in S\}. \end{aligned}$$

The translational hull is an important concept in the algebraic theory of semigroups (see, [11-12]). Many papers studying the translational hulls of various classes of semigroups can be found in [1, 4, 5, 7, 10, 14, 15].

Following [2], the relations \mathcal{L}^* and \mathcal{R}^* on a semigroup S are generalizations of Green's relations \mathcal{L} and \mathcal{R} on S , respectively. Two elements a, b of S are \mathcal{L}^* - [resp., \mathcal{R}^* -] related on S if and only if they are \mathcal{L} - [resp., \mathcal{R} -] related on a semigroup T such that S is a subsemigroup of T . A semigroup S is called *right abundant* [resp., *left abundant*] if each \mathcal{L}^* class [resp., \mathcal{R}^* class] of S contains at least one idempotent. A semigroup S is called *abundant* if it is both left and right abundant. A right [resp., left] abundant semigroup in which the idempotents commute is *right adequate* [resp., *left adequate*]. A semigroup S is called *adequate* if and only if it is both right and left adequate. Usually, we denote by a^+ [a^*] a typical idempotent \mathcal{R}^* -related [\mathcal{L}^* -related] to a ; $E(S)$ denotes the set of idempotents of S . If S is a semigroup and \mathcal{K} is one of the relations \mathcal{L}^* and \mathcal{R}^* on S , then \mathcal{K}^S and $\mathcal{K}^{\Omega(S)}$ denote the \mathcal{K} relation on S and $\Omega(S)$, respectively.

A right adequate semigroup S is called *right type B*, if it satisfies the following conditions:

- (B1) $(\forall e, f \in E(S^1), a \in S) (efa)^* = (ea)^*(fa)^*$, where $S^1 = S$ if S has an identity element 1, otherwise $S^1 = S \cup \{1\}$;
- (B2) $(\forall a \in S, e \in E(S)) e \leq a^* \implies (\exists f \in E(S^1)) e = (fa)^*$, where " \leq " is a natural partial order on $E(S)$ (i.e., $(\forall x, y \in E(S)) x \leq y \iff x = xy = yx$ (see, [6])).

Dually, we can define a *left type B* semigroup. A semigroup which is both right and left type B is called *type B* (see, [3]). Recently, Li and others study some classes of type B semigroups (refer to [7, 8, 9]). In [4], Fountain proved that the translational hull of an adequate semigroup is adequate. For a type B semigroup S , the translational hull of S , $\Omega(S)$, is again a type B semigroup (refer to [7]), and thus the idempotents of $\Omega(S)$ form a semilattice (i.e., the

idempotents are commute). How the structure of this semilattice, $E(\Omega(S))$, is influenced by the structure of the semilattice of idempotents of S , $E(S)$, is seen in our main results: $E(\Omega(S)) \cong \Omega(E(S))$. It is well known that an arbitrary inverse semigroup is type B, but the converse is not true. Therefore, our results generalize the corresponding results for inverse semigroups.

2. Preliminaries

We follow the notions in [2, 3, 4, 13]. First, we recall some known results and notations which will be frequently used in this paper.

Lemma 2.1 ([2]). *Let S be a semigroup and $a, b \in S$. Then the following statements are equivalent:*

- (1) $a\mathcal{L}^*b [a\mathcal{R}^*b]$;
- (2) for all $x, y \in S^1$, $ax = ay [xa = ya]$ if and only if $bx = by [xb = yb]$.

Corollary 2.2 ([2]). *Let S be a semigroup and $a \in S, e \in E(S)$. Then the following statements are equivalent:*

- (1) $a\mathcal{L}^*e [a\mathcal{R}^*e]$;
- (2) $ae = a [ea = a]$ and for all $x, y \in S^1$, $ax = ay [xa = ya]$ implies $ex = ey [xe = ye]$.

It is easy to check that \mathcal{L}^* is a right congruence and \mathcal{R}^* is a left congruence. In an arbitrary semigroup, we can show $\mathcal{L} \subseteq \mathcal{L}^*$ and $\mathcal{R} \subseteq \mathcal{R}^*$. If S is a semigroup and a, b , are regular elements of S , then $a\mathcal{L}^*b [a\mathcal{R}^*b]$ if and only if $a\mathcal{L}b [a\mathcal{R}b]$. In particular, for an arbitrary adequate semigroup S , $(ab)^+ = (ab^+)^+$ and $(ab)^* = (a^*b)^*$ for all $a, b \in S$, and S is \mathcal{L}^* -unipotent and \mathcal{R}^* -unipotent (i.e., each \mathcal{L}^* -class and each \mathcal{R}^* -class of S contains exactly one idempotent).

Let S be an adequate semigroup and $a \in S$, $(\lambda, \rho) \in \Omega(S)$. The authors in [4] define the mappings $\lambda^*, \lambda^+, \rho^*$ and ρ^+ which map S into itself by the rule:

$$\lambda^*a = (\lambda a^+)^*a, \quad \lambda^+a = (a^+\rho)^+a, \quad a\rho^* = a(\lambda a^*)^*, \quad a\rho^+ = a(a^*\rho)^+.$$

It is clear that $(\lambda^*, \rho^*), (\lambda^+, \rho^+) \in \Omega(S)$ and furthermore, those elements are the idempotents of $\Omega(S)$.

Lemma 2.3 ([4]). *Let S be an abundant semigroup and $\lambda_1, \lambda_2 [\rho_1, \rho_2]$ be left [right] translations of S . Then*

- (1) $\lambda_1 = \lambda_2 \iff (\forall e \in E(S)) \quad \lambda_1 e = \lambda_2 e$;
- (2) $\rho_1 = \rho_2 \iff (\forall e \in E(S)) \quad e\rho_1 = e\rho_2$.

Lemma 2.4 ([4]). *Let S be an adequate semigroup. Then the following statements are true:*

- (1) $e\rho^* = \lambda^*e = (\lambda e)^* \in E(S)$, for all $e \in E(S)$;
- (2) $e\rho^+ = \lambda^+e = (e\rho)^+ \in E(S)$, for all $e \in E(S)$;
- (3) $(\lambda^*, \rho^*)\mathcal{L}^{*\Omega(S)}(\lambda, \rho)\mathcal{R}^{*\Omega(S)}(\lambda^+, \rho^+)$;
- (4) $E(\Omega(S)) = \{ (\lambda, \rho) \in \Omega(S) \mid \lambda E(S) \cup E(S)\rho \subseteq E(S) \}$.

Lemma 2.5 ([7]). *Let S be a type B semigroup such that $(\lambda_1, \rho_1), (\lambda_2, \rho_2) \in \Omega(S)$. Then the following statements hold:*

- (1) $(\lambda_1, \rho_1) = (\lambda_2, \rho_2) \iff \lambda_1 = \lambda_2 \iff \rho_1 = \rho_2$;
- (2) $\Omega(S)$ is a type B semigroup;
- (3) $(\lambda_1, \rho_1)\mathcal{L}^{*\Omega(S)}(\lambda_2, \rho_2) \iff \lambda_1 e \mathcal{L}^{*S} \lambda_2 e$ for all $e \in E(S)$;
- (4) $(\lambda_1, \rho_1)\mathcal{R}^{*\Omega(S)}(\lambda_2, \rho_2) \iff e\rho_1 \mathcal{R}^{*S} e\rho_2$ for all $e \in E(S)$.

As in [13], a semigroup S is *left reductive* [resp., *right reductive*] if for any $a, b \in S$, $xa = xb$ [resp., $ax = bx$] for all $x \in S$ implies that $a = b$ and S is *reductive* if it is both left and right reductive.

Lemma 2.6 ([12]). *Let S be a reductive semigroup. Then $S \cong \Pi(S)$ and $\Omega(S) \cong \tilde{\Lambda}(S) \cong \tilde{P}(S)$.*

3. Properties

In this section we will consider some properties of the translational hull of a type B semigroup.

Theorem 3.1. *Let S be a type B semigroup. Then*

- (1) $S \cong \Pi(S)$ and $\Omega(S) \cong \tilde{\Lambda}(S) \cong \tilde{P}(S)$;
- (2) $\Pi(E(S)) = E(\Pi(S))$.

Proof. (1) By Lemma 2.6, it only remains to show that S is reductive. To see it, let $a, b \in S$ be such that $ax = bx$ for all $x \in S$. Then $(ax)^* = (bx)^*$. Hence, $(a^*x)^* = (b^*x)^*$ since S is type B. Choose an idempotent a^* of S to replace the element x of the above formula, we get $a^* = b^*a^*$. Similarly, $b^* = a^*b^*$. Note that $E(S)$ is a semilattice, we have $a^* = b^*$. Thus, $a = aa^* = ba^* = bb^* = b$. Therefore, S is right reductive. Dually, S is left reductive, as required.

(2) Straightforward. □

Example 3.1 ([7]). Let \mathbb{N} be the set of all non-negative integers and put $S = \{(m, n) \in \mathbb{N} \times \mathbb{N} \mid m \geq n\}$. Define a multiplication “ \bullet ” on S by

$$(m, n) \bullet (p, q) = (m - n + t, q - p + t),$$

where $t = \max\{n, p\}$. Then, it is easy to check that (S, \bullet) is a semigroup and $E(S) = \{(m, m) \in \mathbb{N} \times \mathbb{N}\}$. As in [7], Li and Wang have proved that S is a type B semigroup such that $(n, n)\mathcal{L}^*(m, n) \mathcal{R}^*(m, m)$ for all $(m, n) \in S$. Hence, $(m, n)^* = (n, n)$ and $(m, n)^+ = (m, m)$.

Next, we show that S is reductive. Let $(m, n), (h, k) \in S$ be such that $(m, n) \bullet (p, q) = (h, k) \bullet (p, q)$ for all $(p, q) \in S$. Then

$$(1.1) \quad (m - n + t, q - p + t) = (h - k + s, q - p + s),$$

where $t = \max\{n, p\}$, $s = \max\{k, p\}$. Hence, $s = t$ and $m - n = h - k$. Choose the idempotent $(0, 0)$ of S to replace the element (p, q) of the above formula (1.1), we have $n = t = s = k$, and thus $m = h$. Therefore, $(m, n) = (h, k)$, this gives that S is right reductive. Dually, S is left reductive.

Theorem 3.2. *Let S be a type B semigroup. Then the following statements are true:*

- (1) *if λ is a mapping of S into itself, then $\lambda \in \Lambda(S)$ if and only if $(\lambda e)f = \lambda f$ for all $e, f \in E(S)$ with $f \leq e$, and $\lambda x = (\lambda x^+)x$ for all $x \in S$;*
- (2) *if ρ is a mapping of S into itself, then $\rho \in P(S)$ if and only if $f(e\rho) = f\rho$ for all $e, f \in E(S)$ with $f \leq e$, and $x\rho = x(x^*\rho)$ for all $x \in S$;*
- (3) *for $\lambda \in \Lambda(S), \rho \in P(S), (\lambda, \rho) \in \Omega(S)$ if and only if $e(\lambda f) = (e\rho)f$ for all $e, f \in E(S)$.*

Proof. (1) Let $\lambda x = (\lambda x^+)x$ for all $x \in S$ and $(\lambda e)f = \lambda f$ for all $e, f \in E(S)$ with $f \leq e$. Then, for all $x, y \in S$, we have

$$\begin{aligned} \lambda(xy) &= (\lambda(xy)^+)xy && \text{(by hypothesis)} \\ &= (\lambda x^+)(xy)^+xy && \text{(from } (xy)^+ \leq x^+ \text{ and hypothesis)} \\ &= (\lambda x^+)xy \\ &= (\lambda x)y && \text{(by hypothesis)} \end{aligned}$$

This gives $\lambda \in \Lambda(S)$. The converse is clear.

(2) It is the dual of (1).

(3) Let $\lambda \in \Lambda(S), \rho \in P(S)$ be such that $e(\lambda f) = (e\rho)f$ for all $e, f \in E(S)$. Then, for all $x, y \in S$, we have

$$\begin{aligned} x(\lambda y) &= xx^*(\lambda y^+)y && \text{(by (1))} \\ &= x(x^*\rho)y^+y && \text{(by hypothesis)} \\ &= (x\rho)y && \text{(by (2))} \end{aligned}$$

Therefore, $(\lambda, \rho) \in \Omega(S)$. The converse is clear. □

4. Main results

In this section, we shall give characterizations of the semilattice of idempotents of $\Omega(S)$ for an arbitrary type B semigroup S . Furthermore, we shall give the proof of our main result: $E(\Omega(S)) \cong \Omega(E(S))$.

Theorem 4.1. *Let S be a type B semigroup. Then*

$$E(\Omega(S)) \cong \{ \lambda \in \Lambda(S) \mid \lambda E(S) \subseteq E(S) \}.$$

Proof. By Lemma 2.5(2), $E(\Omega(S))$ is a semilattice. Consider the mapping

$$\psi : E(\Omega(S)) \longrightarrow \{ \lambda \in \Lambda(S) \mid \lambda E(S) \subseteq E(S) \}, (\lambda, \rho) \longmapsto \lambda.$$

By Lemma 2.4(4), it is easy to see that ψ is well-defined. Clearly ψ is a homomorphism.

Let $\lambda \in \Lambda(S)$ with $\lambda E(S) \subseteq E(S)$. Then define a mapping ρ on S by

$$x\rho = x\lambda(x^*) \quad \text{for all } x \in S.$$

Hence, for any $e \in E(S)$, $e\rho = e(\lambda e) = (\lambda e)e = \lambda e$ since $\lambda e \in E(S)$ and $E(S)$ is a semilattice. That is, $e\rho \in E(S)$ for all $e \in E(S)$. Note that $E(S)$ is a semilattice. For all $e, f \in E(S)$, we have

$$(fe)\rho = \lambda(fe) = \lambda(ef) = (\lambda e)f = f(\lambda e) = f(e\rho).$$

In particular, $f\rho = f(e\rho)$, for all $e, f \in E(S)$ with $f \leq e$; also, for $x \in S$, $x(x^*\rho) = x(\lambda x^*) = x\rho$. By Theorem 3.2(2), $\rho \in P(S)$. Hence, for all $e, f \in E(S)$,

$$e(\lambda f) = e(f\rho) = (ef)\rho = (fe)\rho = f(e\rho) = (e\rho)f,$$

and so $(\lambda, \rho) \in \Omega(S)$ from Theorem 3.2(3). This together with the fact $\lambda e = e\rho \in E(S)$ for all $e \in E(S)$ and with Lemma 2.4(4), yields that $(\lambda, \rho) \in E(\Omega(S))$. Therefore, ψ is surjective.

On the other hand, let $\psi[(\lambda_1, \rho_1)] = \psi[(\lambda_2, \rho_2)]$ for some $(\lambda_1, \rho_1), (\lambda_2, \rho_2) \in E(\Omega(S))$, that is, $\lambda_1 = \lambda_2$. By Lemma 2.5(1), $(\lambda_1, \rho_1) = (\lambda_2, \rho_2)$. This gives that ψ is injective. Therefore, $E(\Omega(S)) \cong \{ \lambda \in \Lambda(S) \mid \lambda E(S) \subseteq E(S) \}$. □

Proposition 4.2. *Let S be a type B semigroup and $\lambda \in \Lambda(S), \rho \in P(S)$. Then $(\lambda, \rho) \in E(\Omega(S))$ if and only if $\lambda^2 = \lambda, \rho^2 = \rho$ and $\lambda e = e\rho$ for all $e \in E(S)$.*

Proof. By Lemma 2.5(2), $\Omega(S)$ is a type B semigroup and $\Omega(S)$ is \mathcal{L}^* -unipotent. Let $(\lambda, \rho) \in E(\Omega(S))$. Then $\lambda^2 = \lambda, \rho^2 = \rho$. By Lemma 2.4(3), $(\lambda^*, \rho^*)\mathcal{L}^*(\lambda, \rho)$. Hence, $(\lambda, \rho) = (\lambda^*, \rho^*)$ since $\Omega(S)$ is \mathcal{L}^* -unipotent. Thus, by Lemma 2.4(1), $\lambda e = \lambda^*e = e\rho^* = e\rho$, as required.

Conversely, suppose that $\lambda \in \Lambda(S), \rho \in P(S)$ with $\lambda^2 = \lambda, \rho^2 = \rho$, and $\lambda e = e\rho$ for all $e \in E(S)$. Then, for all $e, f \in E(S)$, we have

$$(\lambda e)^2 = (\lambda e)(\lambda e) = (\lambda e)(e\rho) = \lambda(e(e\rho)) = \lambda(e\rho) = \lambda(\lambda e) = \lambda^2 e = \lambda e.$$

Hence, $\lambda e = e\rho \in E(S)$, and so $(e\rho)f = f(e\rho) = (fe)\rho = (ef)\rho = e(f\rho) = e(\lambda f)$ since $E(S)$ is a semilattice. By Theorem 3.2(3), $(\lambda, \rho) \in \Omega(S)$. This together with the facts $\lambda^2 = \lambda, \rho^2 = \rho$, yields that $(\lambda, \rho) \in E(\Omega(S))$. \square

Theorem 4.3. *Let S be a type B semigroup. Then $E(\Omega(S)) \cong \Omega(E(S))$.*

Proof. By Lemma 2.4(4), it is easy to see that $\Omega(E(S))$ is indeed a semilattice. Consider a mapping θ as follows:

$$\theta : E(\Omega(S)) \longrightarrow \Omega(E(S)), \quad (\lambda, \rho)\theta = (\lambda|_{E(S)}, \rho|_{E(S)}),$$

where $\lambda|_{E(S)}$ [resp., $\rho|_{E(S)}$] is the restriction of λ [resp., ρ] to the set $E(S)$. By Lemma 2.4(4), $\lambda|_{E(S)} \in \Lambda(E(S)), \rho|_{E(S)} \in P(E(S))$ and $\lambda|_{E(S)}$ is linked to $\rho|_{E(S)}$. Hence θ maps into $\Omega(E(S))$.

Next, we prove that θ is injective. Let $(\lambda|_{E(S)}, \rho|_{E(S)}) = (\lambda'|_{E(S)}, \rho'|_{E(S)})$. Then, by Lemma 2.3, $(\lambda, \rho) = (\lambda', \rho')$, this gives that θ is injective.

To see that θ is surjective, let $(\lambda^\dagger, \rho^\dagger) \in \Omega(E(S))$. Define λ and ρ on S as follows:

$$\lambda x = (\lambda^\dagger x^+)x, \quad x\rho = x(x^* \rho^\dagger).$$

Then

$$\lambda x = (\lambda^\dagger x^+)x = (\lambda^\dagger x^+)x^+x = (\lambda x^+)x,$$

and

$$(\lambda e)f = ((\lambda^\dagger e)e)f = \lambda^\dagger(ef) = \lambda^\dagger f = (\lambda^\dagger f)f = \lambda f$$

for all $e, f \in E(S)$ with $f \leq e$. By Theorem 3.2(1), $\lambda \in \Lambda(S)$. Dually, $\rho \in P(S)$. Furthermore,

$$e(\lambda f) = e(\lambda^\dagger f)f = e(\lambda^\dagger f) = (e\rho^\dagger)f = e(e\rho^\dagger)f = (e\rho)f,$$

for all $e, f \in E(S)$. By Theorem 3.2(3), $(\lambda, \rho) \in \Omega(S)$. Note that $\lambda|_{E(S)} = \lambda^\dagger$ and $\rho|_{E(S)} = \rho^\dagger$. We have

$$\lambda^2 e = \lambda(\lambda e) = \lambda(\lambda^\dagger e) = \lambda^\dagger(\lambda^\dagger e) = \lambda^{\dagger^2} e = \lambda^\dagger e = \lambda e,$$

and similarly $e\rho^2 = e\rho$ and so $\lambda^2 = \lambda, \rho^2 = \rho$. Hence,

$$\lambda e = (\lambda e)e = e(\lambda e) = (e\rho)e = e(e\rho) = e\rho.$$

By Proposition 4.2, $(\lambda, \rho) \in E(\Omega(S))$. Thus, θ is surjective. That θ is a homomorphism is clear. Therefore, $E(\Omega(S)) \cong \Omega(E(S))$. \square

Acknowledgements

This work is supported by the National Science Foundation of China(No. 11261018), the Natural Science Foundation of Jiangxi Province (No. 20181BAB201002; 20171BAB201009)and the Social Science Foundation of the Education Department of Jiangxi Province (No. ZGW162007).

References

- [1] J.E. Ault, *The translational hull of an inverse semigroup*, Glasgow Math. J., 14 (1973), 56-64.
- [2] A. El-Qallali, J.B. Fountain, *Idempotent-connected abundant semigroups*, Proc. Roy. Soc. Edinburgh Sect. A, 91 (1981), 79-90.
- [3] J.B. Fountain, *Adequate semigroups*, Proc. Edinburgh Math. Soc., 22 (1979), 113-125.
- [4] J.B. Fountain, M. Lawson, *The translational hull of an adequate semigroup*, Semigroup Forum, 32 (1985), 79-86.
- [5] X.J. Guo, K.P. Shum, *On translational hulls of type-A semigroups*, J. Algebra, 269 (2003), 240-249.
- [6] M.V. Lawson, *The natural partial order on an abundant semigroup*, Proc. Edinburgh Math. Soc., 30 (1987), 169-186.
- [7] C.H. Li, L.M. Wang, *On the translational hull of a type B semigroup*, Semigroup Forum, 82 (2011), 516-529 (2011).
- [8] C.H. Li, L.M. Wang, B.G. Xu, H.W. Huang, *On \sim bisimple right type B ω -semigroups as model of some fractal structure*, Chaos, Solitons and Fractals, 89 (2016), 169-174.
- [9] C.H. Li, *On fuzzy congruences of a type B semigroup I*, International Mathematical Forum., 9 (2014), 367-375.
- [10] F.J. Pastijn, L.A. Oliveira, *Res matrix covers and the translational hull of a locally inverse semigroup*, Comm. Algebra, 36 (2008), 3230-3249.
- [11] Petrich, M., *Introduction to semigroups*, Merrill, Columbus, Ohio, 1973.
- [12] M. Petrich, *The translational hull in semigroups and rings*, Semigroup Forum, 1 (1970), 283-360.
- [13] M. Petrich, N. Reilly, *Completely regular semigroups*, Newyork: Thon Wiley and Sons, 1999.
- [14] X.M. Ren, K.P. Shum, *The translational hull of strongly right or left adequate semigroup*, Vietnam Journal of Mathematics, 34 (2006), 1-7.
- [15] Y. Wang, X.M. Ren, S.Y. Ma, *The translational hull of superabundant semigroups with semilattice of idempotents*, Scientia Magna, 2 (2006), 75-80.

Accepted: 10.10.2018